ЕГЭ-2009
1 А3. Вычислите:    [image: ].

	1)
	5
	2)
	4
	3)
	16
	4)
	3


2 А3. Вычислите:    [image: ].
	1)
	4
	2)
	7
	3)
	4,1
	4)
	− 4


3 А3. Вычислите:    [image: ].
	1)
	16
	2)
	3
	3)
	3,2
	4)
	1


4 А3. Вычислите:    [image: ].
	1)
	9
	2)
	4
	3)
	3
	4)
	27


5 А3. Вычислите:    [image: ].

	1)
	2
	2)
	36
	3)
	6
	4)
	1


6 А3. Вычислите    [image: ],    если    [image: ].
	1)
	7
	2)
	– 1
	3)
	− 7
	4)
	1


7 А3. Вычислите:    [image: ].
	1)
	5
	2)
	3
	3)
	2
	4)
	4


8 А3. Вычислите:    [image: ].
	1)
	2
	2)
	0
	3)
	− 2
	4)
	− 1


9 А3. Вычислите:    [image: ].
	1)
	1
	2)
	− 1
	3)
	0,3
	4)
	2



10 А3. Вычислите:    [image: ].
	1)
	1
	2)
	6
	3)
	12
	4)
	– 1


11 А3. Вычислите:    [image: ].
	1)
	5
	2)
	2
	3)
	4
	4)
	6



	1)
	9
	2)
	3
	3)
	1
	4)
	− 9


12 А3. Вычислите    [image: ],    если    [image: ].
13 А3. Вычислите:    [image: ].
	1)
	1
	2)
	[image: ]
	3)
	– 1
	4)
	[image: ]


14 А3. Вычислите:    [image: ].
	1)
	2
	2)
	4
	3)
	3
	4)
	10



image7.wmf
2

log3

a

=


image8.wmf
33

log54log22

-+


image9.wmf
55

log16:log22

-


image10.wmf
0,30,3

log2log0,15

+


image11.wmf
0,50,5

log6log12

-


image12.wmf
35

5log5log31

×-


image13.wmf
(

)

log:9

c

c


image14.wmf
log35

c

=


image15.wmf
43

log64log81

-


image16.wmf
3

4


image17.wmf
4

3


image18.wmf
33

log2,7log30

+


image1.wmf
5

3

log16

log5

3

æö

ç÷

èø


image2.wmf
4,1

log7

34,1

-


image3.wmf
(

)

34

loglog64


image4.wmf
4

3log3

4


image5.wmf
66

log144log4

-


image6.wmf
4

2

32

log

a

æö

ç÷

èø


